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[s-1 + CDDP_(80/60) (TS-1)

Ro| ER4 BREE | B | FH aAV R B;‘?ﬁéag)zu eS| dt | d2 | d3 | de | a5 | d6| a7 as|ao[dofdit|diz|di3|dia|di5|di6|d17]d18]|d19]d20]d21|d22]d23|d24|d25 | d26 | d27 | d28 |20 | 30|31 |32 [ 33 [ d34 | d35
TJYLTLIA F-1E TILEER 1000|mL il (EEEE) 10:00 (o)
2| RIEERFT 100|mL =il 10:00 30({% [0)
F04*y FrRiE#T A 150]m;
7 0% 2§30 75mg SmL 5|mL
TXY— bIESHE 12]m
3| TILEESR 500|ﬂ|_ =il 10:30] 1. 5|F%RE o
| |BREENMe & 1mEq/mL 8 mL
|
Al TILEESR 300|mL =¥ v 12:00 2| BFE o
SRISFUAERE 60{mg/m
S|ITIEER 1000 |mL =il 14:00) 2. 5|R%R [0)
20+ 3 FESHRK 20(m
XTS-1AR 80mg/mi di-d21




[KXP>» £O—4 + CDDP_(2000/80) (O —4)

Rp Emb RE5E | BN | FH airy F*?é'gf” SR | di | d2 | d3 [ d4|d5|d6|d7 | d8 | d9|di0|dit|d12[d13|d14|d15]|d16]d17]d18|d19|d20|d21
T|YILTLIA F1F TLEESR 1000{mL Rl EEEE) 10:00 (o)
2| RIZEEEF 250|mL J ¥ 10:00 30|52 (@)
JO4 A PR 150|mg
7 8 #8:%0. 75mg 5mL 5|mL
TEY— bESR 12|mg
S| TILEEE 500]|mL =il 11:00] 1.5|65fF | O
| |BiEEMe4HIE & TmEq/mL 8[mL
AlTLEESR 300[mL Rl ER 12:30 2|58 O
RIS F T 80[mg/mi
S|ITILEEE 500]|mL =il 14:30] 1.5|65RH | O
2043 FEFHE 20{mg
X O— MR 2000mg/nd di-14




[CDOP + N—+TFF> (FO—¥) (80/8—6) |

Rp Emb RE5E | BN | FH =R A F*ﬁ(g';’f” AEESRA | di [d2|d3 | d4 | d5 | d6 | d7 | d8 [ d9[diofdit|di2|d13]d14|d15]d16|d17|d18[d19|d20|d21

T|YILTLIA F1F TLEESR 1000|mL Rl EEEE) 10:00 (o)

2| RIZEEEE 250|mL J ¥ = R FE R AT 10:00] 1.5|85R | O
N—t TF ViI5H 8mg/kg
2[5 B UUE6mg/keg

J|REBELEEE 100{mL J ¥ 11:30 30|52 (@)
JoO4 A PR 150|mg

A IREERF 100{mL =il 12:00 30|45 o
7 0% S E8E0. 75mg 5mL 5|mL
TEY— bESE 12|mg

S|TIEEE 500mL 500{mL =il 12:30] 1.5|65RH | O

| |BiEEMe#SIE /& TmEq/mL 8[mL

6|TIEEE 300|mL RUE B 14:00 2k | O
RIS F v RiEERE 80[mg/mi

I|TILEEE 500]|mL =il 16:00] 1.5/65RF | O
20+ REFGR 20|mg
Xt O—4MAR 2000mg/mi d1-14




[XELOX (130/2000) (¥ B —4)

FREZI

Rp E-Lr P 58| BE | K axy B esesh | a1 | d2 | a3 | ds|d5|d6| a7 | de| do|aro|drt|ai2|di3|dia|di5|di6]|d17]d18|d19|d20|dor
[l B 500[mL B (EEEE) 10:00 ()
2 | KIEE BT 100|mL J=biiil 10:00 30|52 (@)
7 0% 8530, 75mg 5mL 5|mL
TExH— RESNR 8|mg
3| KIFHE®R 5% 250mL 250|mL J=biiil 10:30 21658 1O
IILVTS5y b EERER 130|mg/m
Xt OoO—4 MR 2000mg/m di1-14




[«S0X>» S-1 + L-OHP (80/100) (TS-1)

FREZI

Rp E-Lr P 58| BE | K axy B esesh | a1 | d2 | a3 | ds|d5|d6| a7 | de| do|aro|drt|ai2|di3|dia|di5|di6]|d17]d18|d19|d20|dor
[l B 500[mL B (EEEE) 10:00 ()
2 | KIEE BT 100|mL J=biiil 10:00 30|52 (@)
7 0% 8530, 75mg 5mL 5|mL
TExH— RESNR 8|mg
3| KiFHER 5% 250{mL =i 10:30 21658 1O
IILVTS5y b EERER 100|mg/m
XTS-1HAR 80mg/m di-d14




[S-1 / DOC_(80/40) (TS-1)

FREZI

Rp ERA 582 | HEfi FH aAAY (B2 AR | d1 | d2 | d3 | d4 [ d5 | d6 | d7 | d8 | d9 |dio|di1[di12|d13]|d14]|d15]|d16|d17|d18|d19]d20]d21
1JVILTLIA F-1F TILEESE 500]mL Al (EEEE) 10:00 (@)
2|75 =+ o> AEEETiRIng/ Ny S 100[mL A 10:00]  30[% (@)
TXY— LESR 4[mg
3 |KiZHE®R 5% 250]mL A 10:30 (=S Ke)
Ft4E+/)LaiEssia 40|mg/m

XTS-1NAR 80mg/mi d1-di14




[mFOLFOX6 (£ >~ 7 2 —H—)

Rp ELL BEE | B Fi A Eﬁ(g“gf“ sRUEEFE | d1 [ d2 | d3 [ d4 | d5 | d6 | d7 | d8 [ d9 |d10[d11]|dI2[d13]d14

ITILEER 500|mL miE (EERE) 10:00 @)

2| KEERE 100{mL b 10:00]  30|% ®)
7 0% §8:30. 75mg bmL 5[mL
TEXY— MESRK 8|mg

3 |KiIZHE&E Sh 250|mL b 10:30 2[kf | O
LR ) >— b RisssE A 200[mg/ m

4 |KIZHE& Sh 250|mL b 10:30 2[kf | O
INTSy bRiEstR 85|mg/m

S|IKXEAERE 50[mL b 12:30 5|5 ®)
5-FUE 400{mg/mi

6 |5-FUE 2400|mg/m =i 12:35] 46|85 | O
AZERT (éémoTLl:Té)




[BFASL¥F + PIX _(8/80) |
Rp o4 58 B4 FH =P %gg?“ U dl | d2 | d3|d4|d5|d6|d7 |d8|d9 [dl10]|di1|d12|d13|d14]|d15[d16]|d17[d18]|d19(d20|d21|d22|d23|d24|d25d26|d27|d28
[zLE%8 500[nL FiE (EBRE) 10:00 @) @) @)
2| REEEFT 100)mL RE 10:00 30|45 [0) (@) (@)
27 EFOVESE 20|mg
TEY — LI 8[mg
SIKREZELEEFT 250|mL RE 10:30 1[e5R9 | O (@)
HA 5 LY FERE 8[me/ke
AVRFEEET 100)mL RE 11:30 30|53 o (@)
515 =t b0y ST Rmg/ Ny I IOOIEL =¥ 12:00 30|59 (@) (@) (@)
6| ABERE 250 (L A |G Y 12:30] 1] |O @) @)
DL E= % 80[mg/rmi




(B4 35LY (8) |
Rp ELL B2 | B Fi A Eﬁ(g“gf“ sRUEEFE | d1 [ d2 | d3 [ d4 | d5 | d6 | d7 | d8 [ d9 |d10[d11]|dI2[d13]d14
ITILEER 500|mL miE (EERE) 10:00 @)
2| KEERF 100{mL b 10:00]  30|% O]
RALRAZ—)LiE5K10mg TmL 1]mL
S|KEERE 250|mL b 10:30 1 |O
Y45 LY RiEE 8|mg/kg
4| XEEEE 50[mL b 11:30]  15|% @)
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[CPT-11_(150)

FIBEEZ]

Rp ELL B2 | B Fi A (B%) sRUEEFE | d1 [ d2 | d3 [ d4 | d5 | d6 | d7 | d8 [ d9 |d10[d11]|dI2[d13]d14
TIVITLIA F-lF TILEEE 500|mL miE (EERE) 10:00 @)
2| KEERE 100{mL b 10:00]  30|% O]
7 0% §8:30. 75mg bmL 5[mL
TEXY— MESRK 8|mg
S|ITLEEE 500|mL b 10:30] 1.5|kfE 1O
A4/ THUIBRIE R R R 150|mg/m




11

[Tri-weekly 7 TS5 %4> (260)

FREZI

Rp ERA B5=2 | B Fi aAV b (B%) FEERERT | d1 | d2|d3 | d4 | d5 | d6| d7 | d8 | d9|di0|di1|di2|d13|d14]|d15]d16|d17]|d18]d19]|d20]|d21
(T [F L =58 500][mL ol (EEaE) 70:00 0
2175 =t b0 aiEEsERng/ Ny J 100|mL b 10:00 30|52 O
TExH— RESR 4[mg
3 )ti?;;iﬁfi BEEICHLD |AE 10:30 30|52 (@)
725X aEEER 260[mg/ni
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[Weekly Z TS5 %4> (100) (3#14K)

Rp o4 52| B FH | Ak F’ﬁ(gﬁgf‘“ mmEER | d1|d2|d3|d4]|d5|d6|d7|d8|do|d10]|d11]|d12]|d13]|d14]|d15]|d16]d17]|d18]|d19]|d20]|d21]|d22|d23|d24|d25)d26|d27|d28
S 500]mL A (EERE) 10:00 o) @) (@)
2|15 =t bt aiEEsER3ng/Ny 100{mL =¥ 10:00]  30[% [e) [e) (@)
TEY— FESHRI 4[mg
| REZEEEF BEEICELT) 18E 10:30 30|15 [e) [e) [e)
7I75%Y > aiEEER 100|mg/mi




13

[ F>—A& (240) | XA FS—RE1E480mg, 4BRCEITRETHLIAVEHYET.
Rp Emt rE58 | B | FH Ak Eﬁ(g“gf“ AEEER | d1 | d2 [ d3 | d4 | d5 [ d6 | d7 | d8 | d9|diofdi1]|d12|di3|d14
| XEERT 250|mL miE (EERE) 10:00 0]
2| XKZEEEE 50|mL =¥ 10:00 30|57 ®)

7o miEEE 240|mg




14

lzon—y (6.4

FREZI

RD ;Thél:ﬁ:% 5= i=-Liv q—:*i aAT b (BR) R dl | d2 | d3 | d4 | d5 | d6 | d7 | d8 | d9 |d10|d11]|d12|d13|d14]|d15|d16[d17]|d18|d19|d20]|d21
1| XZEHER 5% 250[mL B (EEEE) 10:00 ()
2 | KIEE BT 100|mL J=biiil 10:00 30|52 (@)
7 0% 8530, 75mg 5mL 5|mL
TExH— RESNR 8|mg
J|KIFHER 5% 50|mL J=biiil 10:30 10{% (@)
4| KiFHER 5% 100|mL B BiEk R EER 10:40] 1.5|R9 1O
I oNn—YamEtsiE 6. 4[mg/ke
5 | RiIZHER 5% 50|mL b 12:10 10|52 O




